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MENTAL ABILITY.

1. What s the value of (9+6)9-6)?

@ 81 ® s -
© 4 © 7

2. The dimension of a cube vessel are 15 cm by & cm and hoight fs 10 cm. What Is the volumo of cube.
vessol?
(®) 1000 cm® (®) 1200em®
(© 1100 em® © 1300 cm?

S 21 oo e mumrsto o aactlon, e 1o a1 5 st oo cnamintr,

1
it reduces to .. Find the fraction.

B .
® 7 ® 33

:
© 3 o2

4. It the first polynomial is 10(x' ~ 9)(x - 1) and the H.C.F. and L.C.M. of two polynomial
5(x + 3)(x - 1) and 20x(¥* - 9) (x' - 3x + 2) respectively then find the second polynomial?
(A) 10x(x = 1)x~2)(x + 3) (B) 10x(x + x=2)x+3)
(©) 10x(x+ 1)x + 2)(x + 3) (B) 10x(x~ 1)(x = 2)(x = 3)

5. Given TP s a tangent and PAB is a scant to a circle. If the bisector of ZATB Intersects AB at M, then

which statement Is true?
2

5 0 ?
®) PMT = 2PTM
(©) £PAT = 2PBT (D) None of these.

The mean of first five odd positive integers, is —
@) 3 (8 4
© 2 © 5

7. The cdgo of a cube s increased by 20%. By what percent will the volume of the cube increase?

() 20% (B) 0%
(© 60% © 728%
8. In AABC, AD bisects ZBAC internally. Thon which one of the following statements Is truc?
48 _80 28_8D
@ Z5-bc By ==
o _ac AC_BD 9

(o= ® &
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o, A year ago, tho father was 8 times as old as his son. Now his age i the square of his son's age. Then
son's presont age Is =
(&) 5years (8) 6 years
(©) 7years (©) 8years

10, 16 J7x?-6x =137 =0, then x=

i3t geiag

Bt @ e

w Ba A £ ‘ >
8 Iy
© -5 © -3~

11, oo adaitve inverse of X522 e~
3-3

cost Rs. 59, then

. 1o v o g and . of o cont R 32 o, sugr 145,

how much will 4 kg of sugar cost? :
N iveal g e W s gy
(O ReDT e = S Tl B) TR « s g8 o€ .
& TR TEY
13, Tho ratio in which the point (2, 3) diides the line-segment joining the points (-3, 5) and (4, -9) is
™ 1:2 ® 1:3 & K2
© 16 © 1:4 z

14 Which one of the following statements Is truo?
(A) sinto + costo =1 (8) sinto + cosi < 1
(C) sin + cosi0 > 1 (D) sino + cos'0 < 1

75 Two cirelos touch Internaly. The sum of thel areas s 116 sq. cm, and the distoncg hetigen their

centres Is 6 cm. Find the radil of tho circles. A &
(&) 2.cm, 5cm (8) 3cm, 7cm
(©) Scm, 8em (0) 4cm, 10cm

'AND ANALYTICAL RE

16. Choose
Planet : Orbit : : Projectile : 7
®) Trajectory ® Pan
(©) Miky way (D), None of these.

7. Ghoase the torm which wil continue the following serles : PAC, RSF, T8I, Vi2L, 2
@ Y170 (8) X17M
(© X170 © X160
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18. I MASTER s coded as 411253, then POWDER will be coded
B) 786433 (8) 765435
(© 788458 (D) None of these.

1. I air Is called green, green Is called biue, bluo is called sky, sky s called yellow, yellow Is called water
and water s callod pink, then what Is the colour of clear sky?
® Be %@ Sk
(© Yellow . (©) Water

20. Rahul told Anand, *Yesterday I defeated the only brother of the daughter of my grandmother.” Whom
did Rahul defeat?

(@) son (®) Fatner
(©) Brotner () None of these.

21. Ina group of six womon, there arc four dancers, four vocal musiclans, ono actress and threo violinists.
Girila and Vanaja are among the violinists while Jalaja and Shailja do not know how to play on the viclin.
Shallja and Tanuja are among dancers. Jalaja, Vanaja, Shallja and Tanuja are all vocal musicians tnd
1o of thom are also violinists. If Pooja is an actress, who among the following is both a dancer und
a violinist? s
®) Jalaja (®) Shaija §

(© Tanvia (B) None of these.

22. Deopa moved a distance of 75 metres towards the north. Sho then turmed to the left and walking for
about 25 melres, turned left again and walked 80 metes. Finally, she tumod to the right at an angle of
45 In which direction was she moving finally?

() North-cast (®) Notthwest
(©) South-east (©) Soutn-west

23. 1 the first fivo words in the sentence, *Moeta’s mother moats mo many tim

alphabetical order, which wil bo the middle word?
@) Meeta (8) Mother
(©) Meals (D) None of these.

24, Select that series in which latters are not according to a general rule.
(&) CEGIKM (8) MORIVX
(© PRIVXZ (D) ZBDFHY

25. Which word can be formed from the following lettors?.

aaboilinaaort
() Collapsivle (B) Locomotive
(©) Colourluiness (0) Colaboration
26, Raman ranks sixtcenth from the top and forty ninth from the bottom In a class. How many students are.

there in the class?
(@) 64 (8) 65
(©) 65 (D) Cantt be determined

ik
Sor iy
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27. Count the number of triangle In the given figure.
®) 8
(8) 10
(© o
(D) None of these.

28 Find i missing characer i tho gven figure.
TR

a5
‘n#

o (8) 8
(©) 125 (0) 216
FTTT ]
29. Complete the series : [ [ |7 a:w 5[7 7| 2
1S g
(&) [elze] (®) [ol7lE]

f
o [
©

30, How many squares does the given figure have?

@) 22 (® 20
© 18 (D) None of these.
COMPUTERS AND INFORMATION TECHNOLO!
31. Whats the file extansion of Ms-Word document?
@) dot (8) doc
(©) .dom © ot
32 In H20 the figure 2 Is appeared lowered. Which effect has been appliod?
(8) Superscript (B) Lowered
(C) Subscript (D) Laid down
33. Which of the following shortcut key is used to check spolling?
@ F1 ® F2
© F1 () Fo

34, Whatis the Thesaurus used for?
(8) Speling options. (8) Grammar optons
(©) Synomyms and Antonyms. (D) Opposite Words
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35. Antificlal Intelligence is associated with which generation?

Class 10 (A) First Generation (B) Second Generation
% (©) Fith Genoration (D) Sixth Generation
18 1t
(% 3. Thoadvantage of using a sproadsheot is:
© (&) Calcuiations can be done auiomatically (8) Changing data automaticaly updatos calculations
(©) More flexibiy (©) Alofinese
4. 3 Usingtho F1 shortcut key to create a chart on chart sheet creates
19. Itz (A) Adefault chart (B) A2-dimensional column chart
an (C) A2-dimensional bar chart (©) A 3dimensional fine chart
®
(€ 33 Youcanuse the drag and drop method to
(&) Copy call contents (8) Move cell contents
— (©) Add cellcontents (0) Both (4) and (8).
20.
d 3. Mostimportant advantage of an IC s its
« (&) Easy replacement i case of cicult fallure (8) Extremely high reiabilty
« (©) Reduced cost (D) Low power consumption
711 40 In the third Generation of computers.

' (A) Distributed data processing first became popular
(8) An operating system was first developed
(C) High level procedural language were first used
(D) Oniine real time systems first become popular

41. A digital computer did not score over an analog computer in terms of

30 Spess 18 Aesuraey
ir &) Retabiny ©) coat
2. DL sands tor
(3 Das elmton angusge (8) Data ocument Link
{6) Distinios ata Loy (D) Moo o ese
5 WML tags mustbe it witin:
® O ®) (]
% (€) <> © {)
44. For deleting a message you use Ctrl +
@ o ® o4
© e 5 Noto o ese
3 ke s el o W Dl ey
{2 Rocye b ) indens
(C) Oustbin (D) Bin

46. This protocol is used over TOP connections. It enables users to login to remote hosts an
resources s f these resources exist on thelr own computars, It is

(A) File transfer protocol (8) Internet protocol
(©) Telnet (©) ARP

47 Whatls the general name given these days to the most powerful computer?
(8) Macro computer (8) Mainframe computer

(C) CRAY computer (0) Super computer
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48. Which of the following has more memory capacity?

(A) RAM (8) RoM

(C) Floppy Disk (D) Hard disk.
49. A modem s a hardware devics that interfaces

(8) CPOand CRT

(8) Printer and main memory

(C) Telephone lines and computer equipment
(D) Main memory and auxiiary memory

50. Retaining data for future reference Is called

(A) Storing (8) Sorting.
(&) Hemorsoa ©) Suang
'SPACE FOR ROUGH WORK
Q q ¢
a ?_Jega\n["ﬁ’&tﬁr\lo
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